Introduction

This memorandum report identifies and explains key microeconomic principles using a set of simulation games. The outcome of these games illustrate how microeconomic principles can be applied within real-life situations to help us make better business decisions. This report is a summary of the simulations I played and their results, which include the key takeaways and their significance, for your review and reference. It is divided into the following sections:

1. Comparative Advantage
2. Competitive Markets and Externalities
3. Production, Entry, and Exit
4. Market Structures (including the Price Discrimination and Cournot simulations)
5. Conclusions
6. References
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Figure 1.2
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Description automatically generated]	The simulations above reflect how with trade, the opportunity cost is more appealing than without trade. Money spent elsewhere is money lost in business. Ideally, you must weigh the opportunity cost by the cost and benefits of options available, while weighing it against others. With the graphs above, it shows that with trade the opportunity cost far outweighs cost and benefits than without trades. An example would be a student who spends three hours watching a movie and spent $20 to gain entry to the movies. As opposed to studying for an exam the night before. Those three hours could had been used to prepare the student for the exam and the $20 

could had been saved for other items. At times, it may not be in the best interest of a business to proceed, if the cost and benefits don’t make financial sense.  Accurately assessing cost and benefits would help businesses make better informed decisions.  
[bookmark: j49qx4wqptjx]

Comparative advantage gives companies’ ability to sell goods and services at lower prices -- as opposed to their competitors, while helping the company who is the sole creator of the product realize stronger sales margins. The downfall to a company having a comparative advantage would be that they lack in certain goods that creates inefficiencies. To compensate for the lack of goods, companies look at other companies that specializes in services that they lack and look for what takes fewer working hours to make those goods. In turn, it helps better the companies to be more efficient, produce better results, all while gaining stronger sales margins and profitability. The business decision to trade would cause changes to their PPF –- production possibility frontier. As companies look to position themselves as the absolute best company for goods and services, they increase their chances of being inefficient. Comparative advantage is a good practice for businesses, only if it makes financial sense to proceed with cost and benefits. In the long run, companies must have the best interest of their business, to grow their margins and increase profitability. 
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Competitive Markets and Externalities
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Figure 2.1
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[image: ]	With policy interventions. The impact it has on supply and demand is influence by either a decrease in demand that makes the equilibrium price fall or a decrease in supply that makes the equilibrium price to rise. From the simulation above, it shows that while the oranges where not in demand during certain times of the season. Different seasons either made the oranges more in 

demand, thus, increasing quantity in supplying and lowering the equilibrium. As a result, prices were affected across all the simulation.  
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Description automatically generated]Determinants are what directly affects a consumer to purchase an item over other goods. For example, the availability of a product that has no substitute, affects what consumers are willing to pay for the item. Another determinant would be if the consumer must search for the exact some product since they failed in finding a close enough substitute for the item. The last determinant that influences a consumer choice would be their budget and the amount of a percentage they are willing to pay for the item. With these three determinants, the simulation above in figure 2.2 shows how consumers were influenced in buying the product that had no close substitute for the original. Price elasticity impacts the firms when the curvature of the curves moves to the right (making profit) or to the left (losing monies). Increasing prices on items would over time decrease the total revenue that firms are able to generate. If consumer spending is inelastic, it means that the demand is not very responsive to the price changes. This is how firms make their decision on pricing and generating total revenue. 







From the simulation above, it’s safe to assume that there is a consumer surplus. Meaning, it what was consumers were willing to pay for the product. In turn, consumers were willing to pay an upscale price for the same item that was in demand. For a producer surplus to happen, the producer would have to be willing to accept a lower price than what the market price for the items are. These are the specific reasons in explaining the graphs above, justifying why it’s a consumer surplus. 
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Figure 3.1













[image: ]	As potential business owners, we must look into how we can enter the markets. For example, with proper research, we can identify are specific customers and understanding our competition. With those two analyses, we can than figure out our markets and what we are going to get into. With the simulation, it showed what and when we made profit for days that were either slow or fast. Another analysis would be to determine what state the market you are going to enter is in. Without understanding the market, it can hurt our business in the long run. Thus, 

making our business lose money as opposed to gaining potential profits. With the above analysis, we can base our decision to enter the market and view how our competitors react to the markets. 





[image: ]Marginal cost is a valuable decision-making skill. It helps businesses set prices, compare models with one another, set supply levels and choose which products are worth producing and what products are going to be discontinue. With the graph above, the hours were determined by the day and how much profit the business the generating. Giving more hours to the drivers made less profit for the business, thus, resulting in cutbacks on drivers to keep the business up float. Marginal cost was also calculated by the production level of the drivers and the consumers 

buying items from the business. In some instances, hours for drivers were greatly affected by the number of items that were being produce. Resulting in more profits for the business and less income for the drivers for the day. 











	The impact that fix cost would have on our business would have no impact on the short run of the business. In the long run of the business, it would affect our profits and our potential to grow our business bigger to generate stronger profits. As the charts below implicates, shows different routes we can take for a short run of our business, as well as the long run of our business. With the ATC model, especially in a competitive market, it marks where our margins are versus where our production is at. With these models, it shows our decision and what approaches we can use to run our business. 
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	The inefficiencies that derive from monopolistic and monopolies competition is that in a monopolistic company the government privileges certain firms, while in a monopoly is when one firm is the sole controller of the market with having more than 25% or more of the market. With those type of firms, what derives from both is less competition and regulated by the government. With the aim of generating more profits compare to what the market value is, monopolistic company faces less inefficiencies. With a monopolies company, it creates inefficiencies due to competitors placating items at a high marginal cost. The graphs below show examples as to how this type of market (monopolistic and monopoly) creates inefficiencies and or efficiencies. 
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In a cartel or under the leadership of one firm. Firms collude with one another in an oligopolistic market to set prices for the market to maximize profits. Since firms are in a cartel, there is no price competition that would usually lead to a decrease in profits for the firms. Oligopolistic markets set the output levels for other firms not to become monopolistic. Oligopolistic companies as maximizes their profits by equating marginal revenue with marginal cost. As a result, the demand curves to the left and right because of competition form oligopolistic in the market. These are how companies in an oligopolistic market generate profits while maintaining their margins at optimal levels. With the graphs below, it shows examples as to how being in an oligopolistic market would benefit our company in the long run.
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	The four types of market structures are perfect competition, monopolistic competition, oligopoly, and monopoly. With perfect competition, there are large numbers of small businesses that compete against each other. Almost all or none of the firms are the sole market power, which all firms equally produce the same output level without having in influence on the market prices. Monopolistic competitors are almost alike the competitors within a perfect market, the difference is that monopolistic companies compete against each other selling similar items at slightly different products. Oligopolistic market is when a small number of firms dominate the market by forming a cartel or having leadership of one company. By competing against each other or colluding with one another, they can use their influence on the market to increase prices and earning more profits. In a monopoly market, a single firm controls an entire market. Creating no entry for other competitors, thus, limiting competition and limiting choices for consumers to seek alternatives. They can also decrease output levels to earn more profits and increase their prices. With these four examples of the different markets, we can choose one of the markets to research and see what our competitions are. The graph below shows an example of the four markets. 
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Conclusions

	
	The relevance that microeconomics has on me making a sound decision moving forward with my business, is that it would help me make smart and financial sense in which markets to occupy with my business. Either it being a perfect competitor or an monopolistic competitor, it comes down to my research I have done on the markets and what best fits into what I’m going to enter. The impact it would have on my business depends on how I choose to enter any of which markets. My best recommendation I would suggest for our business would be monopolistic, since we are entering a tech sector. Despite all the other competitors in the tech sector, I assume we will be the top company when it comes to us realizing our potential in our products. All in all, with this extensive research I have done for finding the right market to enter, my result is to enter into the market in which I recommended. 
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An example of a natural monopoly is the distribution of water. To provide water to residents of a

town, a firm must build a network of pipes throughout the town. If two or more firms were to
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By contrast, because a monopoly is the sole producer in its market, its demand curve is simply the

market demand curve. Thus, the monopolist’s demand curve slopes downward, as in panel (b) of
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Columns (1) and (2) show the monopolist’s demand schedule. If the monopolist produces 1 gallon

of water, it can sell that gallon for §10. If it produces 2 gallons, it must lower the price to $9 to sell
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whether to cooperate and honor this agreement or to ignore it and produce at a higher level. Figure

2 shows how the profits of the two producers depend on the strategies they choose.

Figure 2 Jack and Jill's Oligopoly Game

In this game between Jack and Jill, the profit that each earns from selling water depends on
both the quantity he or she chooses to sell and the quantity the other chooses to sell.

High Production: 40 Gallons Low Production 3 Gallons

Jack gets Jickgets

High Praduction: L (L

40Gallons
i gets

] $1600 poit
Decision

Low Production:

30 Gallons
il gots Sl gets

$1500 prft $1,800 pofit

Suppose you are Jack. You might reason as follows: “I could keep production at 30 gallons as we

810PM
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